F+=x)E

LB G RSN (a,0), a # 0 IS, 16 G FE UV o
(a,b) o (¢,d) = (ac,ad + b).
WEE (G, 0) ZHE.
. BHUTRR RS- RECES IR (BB —45) 5 128 TUAS 7 4.
- BHITRER - B 5118 (B —48) 26 128 TLEE 15 .
WG H AWAEE BTG BN eqy e, W ¢ G — H ONBEFIZ, id
ker(¢) = {g € Glo(g) = en}.
UEH:
(1) ker(¢) A G HI—ATH;
(2) gker(¢) = ker(¢)g ¥HMER g € G WAL, H
gker(¢) = {gg'lg" € ker(¢)}, ker(d)g = {g'glg’ € ker(¢)};
(3) ¢ I HALY ker(¢) = {ec}.
EME REE G Y |G MBECS BACY G P REEE A Mt g # e
- (M0 A, B 2R G AT, R

(1) AUB £ G B TR LAY AR BRI T RS BRAI T
(2) T G REEFRFRF MR, (A (1).)



